Item	Quantity	Condition	Estimated Unit Value (Used)	Estimated Total Value
CTC Inmate Kiosk		L Good	4000	
High-Volume Copier/Printer		l Good	3000	1000
Computer Workstation (Dual Monitors)		l Good	1000	
Filing Cabinets (Various, 4-Drawer)	13	3 Fair to Poor	150	2000
Metal Mail Sorter Unit		l Fair	250	2000
Small Appliance (Mini Fridge/Dehumidifier)		l Fair	300	300
Hand Tools & Miscellaneous (Broom, Chains, etc.)	1	l Fair	100	100
Plastic Crate	1	l Fair	20	20
Trash Can	1	Fair	30	30
Rolling Medical/Utility Cart	1	Fair	250	250
Surveillance Control Room Setup	1	Good	7000	7000
Uniform (Shirt, Pants, Shoes, Belt, Hat)	1	Good	500	500
Eyewear (Prescription Glasses)	1	Good	300	300
iTouch Biometrics LiveScan Station	1	Good	7000	7000
Booking/Surveillance System (Monitors, Cameras)	1	Good	7000	7000
Filing Cabinets (Additional Batch)	10	Fair	150	1500
Microwave	1	Good	100	100
Mini Fridge (Black)	1	Good	200	200
Decorative Cabinet (Breakroom)	1	Good	150	150
Reception Desk and Hutch	1	Fair	400	400
Workstation PC (Monitor, Tower, Printer)	1	Good	400	400
Wheelchair (MBISM)	1	Fair	250	250
Transport Cart/Wagon	1	Fair	200	200
Industrial Laundry Carts	2	Fair	400	800
Utility Cart (Medical Type)	1	Poor	250	250
Industrial Shelving Unit (with Spare Parts)	1	Fair	300	300
Obsolete Computer Equipment (Dell, Monitors)	1	Poor	500	500
Miscellaneous Radios and Electronics	1	Fair	500	500
Small Metal Filing Cabinet (Gray)	1	Fair	150	150
Ryobi Sprayer/Washer	1	Good	200	200
Server/Data Rack with Network Equipment	1	Good	5000	5000
Commercial Water Heaters	2	Good	3000	6000
Lochinvar Boilers	2	Good	10000	20000
Large Air Compressor	1	Fair	2000	2000
Portable Air Compressor (Red)	1	Good	300	300
Avigilon Security DVR/NVR	1	Good	3000	3000
Metal Cabinet (Storage)	1	Fair	200	200
Parts Cart (Lista/Equipto Style)	1	Good	1000	1000
Crutches (Bulk ~20)	1	Fair	200	200
Old Floor Buffer Machine	1	Fair	300	300
Industrial Wet/Dry Vacuum	1	Good	400	400
Werner Extension Ladder	1	Good	500	500
Office Rolling Chairs (Used)	4	Fair	75	300
Metal Folding Chairs	2	Fair	30	60
Metal Storage Cabinet (Tall)	1	Fair	200	200
Laminate Office Desk with Metal Drawers	1	Fair	300	300
Plastic Shelving Unit (Mail Slots)	1	Fair	150	150
Wood Bookshelves (Full of Books)		Fair	150	300
Console Desk (Control Room)		Good	500	500
Plastic Stack Chairs (Visitation Room)		Fair	50	500
Visitation Laptops/Kiosks (Old)		Fair	300	1800
Large Metal Filing Cabinets (Medical)		Fair	300	900
Medicine Locker (Antique Style)		Fair	500	500
Open Shelving (Medical Supplies)		Fair	200	400
Medical Consumable Supplies (Lot)		Good	7000	7000
Metal Storage Cabinet	1			100
Office Chairs (fabric and folding)	6			50

...

Office Desk	1		
Metal File Cabinets (4-drawer)	1		200
Wooden Bookshelves	20		75
Plastic Laundry Carts	2		100
Rolling Medical Carts	3 2		150
Plastic Folding Tables			250
Computers (Monitor, CPU, Keyboard)	2 6		100
Security Camera Monitors	3		500
Commercial Water Heaters	2		800
Lochinvar Boilers	2 Good		3000
Air Compressors	2 Good 2 Fair	4000	8000
IT Server Rack Equipment	2 Fall 1	700	1400
Medical Scales and Vital Signs Monitors	2		4000
Wheelchairs	2		1000
Vacuum Cleaner (Commercial)	1		250
Extension Ladder	1		300
Assorted Crutches	20		200
Office Supplies (Monitors, Keyboards, Printers)	10		20
Medical Supplies and Cabinets	3		100
Plastic Storage Bins	10		500
Security Control Center Furniture (Consoles, Custom desks)			25
Metal File Cabinet	2 Fair	4400	2000
White Shelf Unit	1 Fair	\$100	\$200
Mini Fridge	1 Good	\$75	\$75
Microwave	1 Good	\$200	\$200
Centrifuge	1 Good	\$75	\$75
Desk Fan	1 Good	\$400	\$400
Med Cart	1 Good	\$20	\$20
Desk/Hutch	1 Fair	\$800	\$800
Office Chairs	6 Fair	\$125	\$125
Computer Setup	2 Good	\$75 \$300	\$450
Executive Desk	1 Fair	\$300 \$200	\$600
Paper Organizer	1 Fair	\$200 \$15	\$200
Interview Table	3 Good	\$100	\$15
Plastic Chairs	10 Fair	\$20	\$300
Phone (Wall)	3 Good	\$20 \$75	\$200
Bench Chair	1 Poor	\$20	\$225
Broken Office Chairs	2 Poor	\$10	\$20 \$20
Disposable Gown Boxes	10 New	\$50	\$20 \$500
Hardware Crate/Misc	1 Mixed	\$20	\$20
Craftsman Rolling Tool Chest (Red)	2 Fair	\$350	\$700
Metal Desk w/ Drawers	4 Fair-Good	\$200	\$800
Office Chairs (Leather/Cloth)	6 Fair	\$100	\$600
Computer Workstation (w/ monitors)	2 Good	\$600	\$1,200
Metal Shelving (assorted, fixed)	3 Fair	\$125	\$375
Wood Storage Shelving	2 Fair	\$75	\$150
Steel 5-Drawer File Cabinets	5 Fair-Good	\$150	\$750
Whiteboard (large)	1 Good	\$100	\$100
Coffee Maker	1 Good	\$35	\$35
TV (wall mounted)	1 Good	\$150	\$150
Shop Fan (oscillating/stand)	2 Good	\$50	\$100
Floor/Desk Lamps	2 Good	\$25	\$50
Cordless Drills (visible/boxed)	2 Good	\$100	\$200
Hand Tools (wrenches/pliers/sets)	30+ Good	\$20	\$600
Power Tool—Bench Grinder	1 Good	\$75	\$75
V-belts (hanging/packaged)	16 New/Good	\$15	\$240
Extension Cords (reels/loose)	8 Good	\$25	\$200
Floor Fan (box/stand)	2 Fair	\$30	\$60

0			
Steel Storage Cabinets (tall)	3 Fair	\$200	\$600
Shop Vac/Utility Vacuum	1 Fair	\$100	\$100
Dolly/Hand Truck	1 Good	\$100	\$100
Step Ladders (6ft, metal)	2 Fair	\$100	\$200
Extension Ladders (16ft/20ft/24ft)	4 Fair	\$150	\$600
Tool Parts Bins (mounted, wood)	1 Good	\$100	\$100
Paint/Repair Supplies (bins/shelves)	20+ Good	\$10	\$200
Sprayer Bottles (pump)	2 Good	\$20	\$40
Rolling Parts Cart (metal, black)	1 Fair	\$100	\$100
Ecolab Oasis 146 Multi-Quat Sanitizer (2.5 gal case)	13 New	, \$50	\$650
Ecolab Scout Disinfectant (case)	4 New	\$45	\$180
Good Day Bar Soap (case)	8 New	\$35	\$280
Interplast Can Liners (case)	4 New	\$25	\$100
Solid Power XL Detergent (case)	2 New	\$55	\$110
General Cleaner (misc.)	4 New	\$20	\$80
Bulk Trash Can (gray, 32+ gal)	1 Fair	\$25	\$25
Mop Bucket (5 gal, white/green)	1 Fair	\$20	\$20
Industrial Laundry Machines (visible, 2 units)	2 Good/Fair	\$2,000	\$4,000
Floor Fan	1 Fair	\$30	\$30
Utility Dolly/Hand Truck (metal)	1 Fair	\$100	\$100
Bag of Concrete Mix (50 lb)	5 Good	\$10	\$50
Quikrete Concrete Repair (bag)	1 Good	\$12	\$12
Construction Sand Bags	2 Good	\$8	\$16
Paint/Painting Supplies (buckets/tools, visible)	3 Fair	\$10	\$30
General Hand Tools (misc., in buckets)	12+ Fair	\$15	\$180
Black Milk Crate Storage	2 Good	\$5	\$10
Commercial Clothes Washer	2 Fair	\$2,000	\$4,000
Commercial Clothes Dryer	2 Fair	\$2,000	\$4,000
Industrial 5hp Motor	2 New	\$500	\$1,000
220v Mig Welder	1 Fair	\$1,000	\$1,000
Double Convection Oven Commercial Gas Range	1 Fair	\$3,000	\$3,000
Steam Table	1 Fair	\$5,000	\$5,000
Boxes of Oasis 146 Sanitizer	1 Fair	\$1,000	\$1,000
Boxes of Scout Disinfectant	18 New	\$45	\$810
Boxes of Solid Power XL	6 New	\$40	\$240
Boxes of Can Liners	5 New	\$50	\$250
Boxes of Good Day Bar Soap	4 New	\$25	\$100
Assorted Cleaning Supplies	12 New	\$30	\$360
Hand Truck (Dolly)	35+ Mixed	\$12	\$420
5-Gallon Buckets (Assorted)	2 Fair	\$100	\$200
Industrial Concrete Mix Bags	12 Used	\$8	\$96
Ladders (Fiberglass/Aluminum)	8 New	\$10	\$80
Maintenance Tool Cabinets	7 Fair	\$140	\$980
Rolling Desk Chairs	4 Good 6 Fair	\$225	\$900
Metal Desks	3 Fair	\$60	\$360
Shelf of Hardware Parts	1 Good	\$100	\$300
Electrical Control Panels	2 Used	\$150 \$500	\$150
Pallet of PPE Gloves (Cases)	10 New	\$500 \$50	\$1,000
Industrial Cleaning Machines	2 Used	\$500 \$500	\$500
Gemini Office Paper Boxes	4 New	\$35	\$1,000 \$1.40
Pallet - Mixed Bulk Linens	3 New	\$90	\$140 \$270
Filing Cabinets (Metal, 4dr)	3 Fair	\$90	\$270 \$270
Boardwalk Deluxe Toilet Tissue (case)	6 New	\$30	\$270 \$180
Premium AW 32 5-gal Pail Hydraulic Oil	7 New	\$60	\$420
Interplast Can Liners (case)	5 New	\$25	\$125
Exam Gloves (various brands, case)	35 New	\$45	\$1,575
Black/white jail sandals (by size, pair)	30 New	\$10	\$300
		440	φοσο

.

Nception Nitrile Exam Gloves (case)	9 New	\$45	¢405
Disinfectant wipes (canister)	25 New		\$405
Safety Vests (RHYCOM/green bag, ea)		\$7	\$175
Mayfair Paper Towels (case)	4 New	\$20	\$80
	1 New	\$35	\$35
Utility Cart (metal, blue handle)	1 Fair	\$90	\$90

County Clerk